Efficiency vs dr

efficiency vs AR

[TT1 [TT11
nal orlglnalvector 1000evt
—e— DQM orlgmal 1000evt
—— DQM_fitted4_1000evt

HI 'll ”lj'; i il
e

1'0‘3 1072 10t

107 1072

.10
AR(TP, jet)
Efficiency vs pu
5 0.5p
o =
T S S SR )
? O T SRCLTE: SITPLRE TPUIS SUOPPE P
[} F . . H . . N
KU S SRt SRR
% E : : : : : :
O S SICITE SURTEE SRR
0.25F -+ . ------- S & ST RN
02 hMM -----------------
0.1 -+++ivenene P * ----------------------
0 ];— ----- ‘ ------- . ------- .- ------- R A
0.0k -++++isreeeierenedaeens Pl
P S I | | |
2 % : : :
S 1 3 S S
0.95F -+ H H {1115 AR
°30 720 60 80 100 120 140

Pileup



	Contents
	Page 1


